2 BARYONS
(S= -3, = 0)

2= = sss
- 1Py =0(31)
JP = %_" is the quark-model prediction; and J = 3/2 is fairly well
established.

Mass m = 1672.45 £+ 0.29 MeV

(mg-

—mgy) /Mo =(—1+8)x107°

Mean life 7 = (0.821 + 0.011) x 10710 s

cr = 2.461 cm

(To- — 7g+) / To- =0.00 + 0.05
Magnetic moment p = —2.02 £ 0.05 ppy

Decay parameters

a(27) a_(A) FOR 2= = AK™ = 0.0115 £ 0.0015

NK™ B a = 0.0154 + 0.0020
AK=, AK* (a + @)/(a — @) = —0.02 + 0.13
e a=0.09 + 0.14
=x0 a=0.05+0.21
Scale factor/ p
2~ DECAY MODES Fraction (I';/T) Confidence level (MeV/c)
NK™ (67.7 £0.7 )% 211
=0n- (243 +£0.7 )% S=15 204
=70 ( 8.55+0.33) % 289
=ata— (37 07 )yx1074 189
=(1530)°7 < 7 x 1075 CL=090% 17
e, (56 £2.8 )x10~3 319
=y < 46 x107%  CL=90% 314
AS = 2 forbidden (S2) modes
A 2 < 29 x1076  CcL=90% 449
07 < 54 x10~%  CL=90% 393
nK~ < 2.4 x107%  CL=90% 415
02(2012)~ 1(4P) = 0(77)
Mass m = 2012.5 £ 0.6 MeV
Full width T = 6.4732 MeV
£2(2012)— DECAY MODES Fraction (I;/T) p (MeV/c)
= }L_ seen 403
= KO seen 392
ot K- seen 224
2(2250)~ 1Py = 0(??)
Mass m = 2252 + 9 MeV
Full width ' = 55 + 18 MeV
£2(2250)— DECAY MODES Fraction (I;/T) p (MeV/c)
= at K- seen 532
=(1530)° K~ seen 437
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